—
o

- 4

(Camera HD|C1E'!']
(Top)

jlll"{{l.ll o AR

£
UL UL L Ll
5

C GPIO Adapter )

(Screw M2*6+6)

Gcrew M2 55
crewdriver) LA ] AN

fl 1
lat Cable 2*20PIN Screw M3*ﬁ) ' I I ' S

(Screw M2%*6) L L7 A

n 3"- '=| ol
Jumper G ° GG =4 fl LAl ol '
; (Anti-slip feet)

Standoff
M2.5%22+4

0 Step 1

Mount the buttons on the Metal Box, note that the button with four wires is the Power button and the another
which has two wires are the Reset button.

Button-2 Button-1

0 Step?2

Connect buttons to Jetson Nano. Please refer to the diagram below. Insert the Micro SD Adapter to the Micro
SD card slot. Press it to let it locked.

Note: You should press the adapter to make sure that the adapter is pop-up , then remove it. You cannot directly pull it out,
otherwise you will break the Micro SD card slot.

S
K rh==ig
T

N (] (&) L] ""
Ly umnsﬁn-ﬁi#ﬂ-ﬂ-ﬂ |'|
|ogr 2t

Micro SD Card Adapter

o Step3

Ajust cables, then mount the Jetson Nano 2GB Developer Kit in the Metal Box and fix it by screws and standoffs.
You should also fix the Micro SD Card Adapter by screws.

ki
i

Standoff M2.5%22+4

Screw M2.5%5

o Step4

Mount the GPIO Adapter in Metal Box by screws. Then insert the SIM7600G-H 4G for Jetson Nano Board to the
Jetson Nano and fix it by screws.

]
=
o
d

RRERRRRRNRAREARAARER —
-
1 L1

&
{

| EE %l i

Lo et
l""':|

iy .
[ e §
e, .
& "-: ra
[ Lo i
[ Lo B i

L

®

AT .
e !

III!I / |

Cale)
b B
., s | 1 R
: :‘f‘@ 3
SN, E G
-
B

- ; .E‘. ‘Wirreahar's
;- ‘-:ﬁ SIMTE00X 40 for Jetson Mano
i3 T
fo8 v

GPIO Adapter e ' v

=
.E:-':r.-r:.- B

"". ..!
|
|
Ed
¥ -l

£l
Screw M2.5%5

0 Step5

Assemble the 4G Anternna on the Metal Box. Assemble the cooling fan. the fan connect is extended on GPIO
Adapter.

-]
=
=

:

T

cas

BRLIRRRARRLERRLRERRLE -
E

F A
e T =
b &

= [
Ee - Rl T Bl e S B ] Tl I 1 -
T R Rk e e S e e T e T
i i W TP - | - L L]
ﬂﬁﬂti“:l”hﬂﬂé”ﬂihﬂﬁhl LE T l;ﬂ-'h Ih-‘;l

A

0 Step6

Connect the Jetson Nano to GPIO Adapter by falt cable.

== 0
gy f
- "
= Ay 1

i EL
R =

BLRERRR LY
HEEIRERTRERER R

E‘Ei
L

Flat Cable 2*20PIN

0 Step7

Mount the Camera Holder-Bottom on the Metal Box.

Camera Holder
(Bottom)

o Step8

Fix camera on the Camera Holder-Top by nylon screws.

€@ NutM2

§ ‘ Screw M2*6+6

1 Screw M2%6

o Step9

Assemble the camera holders by screws, adjust the angle and then screw it tightly.

Screw M3%6

0 Step10

Connect the camera cables to Jetson Nano (You can first remove it from camera).

] l'i
-l".'. I::l

i I
1’

¥ e

IR R et Japbiesy LD

o o v - - i
o ==
K -] ]
=T i
A
i
1 F =
e = LN ,I ] s -
wr W = = -
P 5 )
T
= - i A .
=

4 LI CELEERRERNANEAN]

1

Q. 1HIIIII‘I‘IIH'-ih'-lIIIliII‘||'HM.HIIIIIHJJ*J“J

0 Step 11

Assemble the Case, connect the Camera and the antennas

= ]

-

BBLM2.55




